CPD QUESTIONNAIRE 10.6.1

Article: Hard tissue augmentation using an allogenic bone block: a
clinical case report. Marchand et al, page 20
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In a lack of bone which may complicate the implant placement, what
grafting procedure is the gold standard according to the authors?2
Autogenous bone blocks

Autologous bone blocks

Allogenic bone blocks

In the case described, amalgam staining in the keratinized mucosa at
which site was observed:

Site 24

Site 25

Site 26

In the case described, implant placement with simultaneous guided
bone regeneration (GBR) could not be performed. True or false?
True

False

Implant placement at position 24 was performed after a healing
period of:

2 weeks

8 weeks

9 months

Which statements are correct: During the prosthetic procedure:

The provisional crown was screw-retained onto the implant

The provisional crown was cement-retained onfo the implant

The temporary crown was cemented onto the bonding base using a self-
curing composite cement

band c

e.aandc

CPD QUESTIONNAIRE 10.6.2

Article: COVID-19 risk management in dental practice Part 1:
Seven Pandemics and 100 years later - What lessons have we
learnt? Hartshorne, van Zyl, page 48
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Which of the following is not a pandemic?
Spanish flu

Asian Flu

Annual seasonal flu

Swine flu

Hong Kong flu

. Which of the following statements regarding common features of

pandemics is TRUE2

They are all caused by coronavirus

Transmission is by respiratory droplets

Symptoms are not similar fo seasonal flu

They do not occur in waves

Secondary bacterial pneumonia is not a common feature

. Coronavirus mortality is measured by the basic reproductive number R,

(TRUE or FALSE?)
True
False

. Which of the following statements regarding factors most likely

contributing fo superspreading events is TRUE
Individuals with low viral load

Places with good ventilation

Places where large number of people cluster fogether
Individuals with low contact rates

. To reach heard immunity for COVID-19, likely 70% or more of the

population would need to be immune. (TRUE or FALSE?)
True
False

Article: Management of the MB2. Patel, page 32

6. By what other term is the MB2 known as?

a Second canal

b Third canal

c  Fourth canal

d Mesiolingual canal

7. Which statement is correct: Studies have shown the incidence of MB2
canals is roughly:

a  60% in maxillary first molars and 60% in maxillary second molars

b Q0% in maxillary first molars and 0% in maxillary second molars

c  60% in maxillary first molars and 90% in maxillary second molars

8. A missed MB2 canal can be the cause of:

a  Ongoing temperature sensitivity

b Residual bacteria

¢ Neither of the above

d  Both of the above

9. Which statement is correct: Studies have shown that the frequency
of MB2 canal detection for dental loupes is:

a 71.1%

b 62.5%
17.2%

10. For the final preparation of the MB2 canal, what instrument does the
author recommend'2

a  Small hand files (size 8-10)

b Aslightly less tapered (6%) rotary file

¢ Neither of the above

Article: COVID-19 risk management in dental practice Part 1:
Seven Pandemics and 100 years later - What lessons have we
learnt? Hartshorne, van Zyl, page 48

16. COVID-19 originated in:

a  Mexico

b Hong Kong

c  Wuhan

d Jeddah

e Yunan

17. The incubation period for COVID-19 is:
a 1-2days

b 2-4 days

c 21 days

d 2-14 days

18. COVID-19 related deaths globally as at 12 June 2020 were

approximately:

a 866

b 284,000

c 400,000.
d 1,130,000
e. 4,000,000

19. Which of the following statements fits the COVID-19 disease profile:
a Very contagious

b Slow mortality rate

¢ More people have severe symptoms

d  No asymptomatic spread.

20. Which of the following statements regarding COVID-19 is TRUE:
Younger age groups are at greater risk

Highest death rate is amongst 13-34 age

COVID-19 has the highest mortality rate of all pandemics
Individuals with medical comorbidities are af greater risk

COVID-19 has spread 74 counfries
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